Time	F/P/S		Event		Place	Points	Improv
Hissah Al Faisal	(13) F						
6:35.26S	F	# 9E	Female 13-13 400 Free	CWSL-LD	6		45.45
1:27.298	F	# 26E	Female 13-13 100 Back	CWSL-LD	3		0.74
1:42.47\$	F	# 29E	Female 13-13 100 Breast	CWSL-LD	8		5.35
3:40.93\$	F	# 33E	Female 13-13 200 Breast	CWSL-LD	6		10.75
35.65S	F	# 37E	Female 13-13 50 Free	CWSL-LD	7		1.08
Maya Al Faisal ((13) F						
5:38.51S	F	# 9E	Female 13-13 400 Free	CWSL-LD	1		5.61
2:56.25\$	F	# 15E	Female 13-13 200 IM	CWSL-LD	1		-11.21
6:14.27S	F	# 24E	Female 13-13 400 IM	CWSL-LD	1		-37.36
1:20.27\$	F	# 35E	Female 13-13 100 Fly	CWSL-LD	1		0.81
32.48S	F	# 37E	Female 13-13 50 Free	CWSL-LD	1		0.47
Debora Asmero	m (12) F						
1:44.82S	F	# 11D	Female 12-12 100 IM	CWSL-LD	11		7.76
3:54.36S DQ	F	# 15D	Female 12-12 200 IM	CWSL-LD			
51.648	F	# 17D	Female 12-12 50 Breast	CWSL-LD	11		0.86
Meryem Baltaci	(9) F						
NS	F	# 8A	Female 9-9 100 Free	CWSL-LD			
Josephine Barch	nak (10) F	•					
3:55.46S DQ	F	# 6B	Female 10-10 200 Back	CWSL-LD			
1:52.49S	F	# 8B	Female 10-10 100 Free	CWSL-LD	11		
4:06.70S DQ	F	# 15B	Female 10-10 200 IM	CWSL-LD			
1:03.76S	F	# 17B	Female 10-10 50 Breast	CWSL-LD	17		
Frida Maria Bar	iletti (10)	F					
59.44S	F	# 2B	Female 10-10 50 Fly	CWSL-LD	9		
1:37.28\$	F	# 8B	Female 10-10 100 Free	CWSL-LD	7		-22.14
NS	F	# 17B	Female 10-10 50 Breast	CWSL-LD			
52.85S	F	# 22B	Female 10-10 50 Back	CWSL-LD	10		-0.46
1:45.03S	F	# 26B	Female 10-10 100 Back	CWSL-LD	7		
NS	F	# 29B	Female 10-10 100 Breast	CWSL-LD			
Dahlia Bonfiglio	(14) F						
19:49.71S		# 4F	Female 14-14 1500 Free	CWSL-LD	1		
10:16.81S	F	# 31F	Female 14-14 800 Free	CWSL-LD	2		-13.69
Luc Bonfiglio (1	l1) M						
12:25.86S	F	# 12C	Male 11-11 800 Free	CWSL-LD	3		

Time	F/P/S	}	Event		Place	Points	Improv
Melissa Cetin (1	11) F						
51.17S	F	# 2C	Female 11-11 50 Fly	CWSL-LD	12		-3.98
1:27.37S	F	# 8C	Female 11-11 100 Free	CWSL-LD	12		-2.48
1:43.04S DQ	F	# 11C	Female 11-11 100 IM	CWSL-LD			
DQ	F	# 17C	Female 11-11 50 Breast	CWSL-LD			
3:12.97\$	F	# 20C	Female 11-11 200 Free	CWSL-LD	16		-16.12
49.05S	F	# 22C	Female 11-11 50 Back	CWSL-LD	15		0.19
1:43.47\$	F	# 26C	Female 11-11 100 Back	CWSL-LD	14		1.86
1:53.15\$	F	# 29C	Female 11-11 100 Breast	CWSL-LD	13		2.09
38.82S	F	# 37C	Female 11-11 50 Free	CWSL-LD	11		-1.84
Tristan Chan (1	.3) M						
2:56.09S	-	# 1E	Male 13-13 200 Free	CWSL-LD	7		2.81
45.06S	F	# 3E	Male 13-13 50 Breast	CWSL-LD	5		1.06
1:28.47S	F	# 7E	Male 13-13 100 IM	CWSL-LD	2		-0.42
1:20.66S	F	# 14E	Male 13-13 100 Free	CWSL-LD	7		2.66
39.83S	F	# 16E	Male 13-13 50 Back	CWSL-LD	5		0.01
3:42.89\$	F	# 18E	Male 13-13 200 Breast	CWSL-LD	2		8.60
Isla Charlton-Mo	evrick (9)	F					
2:01.25S		# 29A	Female 9-9 100 Breast	CWSL-LD	1		-2.84
47.05S		# 37A	Female 9-9 50 Free	CWSL-LD	6		-3.15
Elisa Chiarparin	(0) F						
1:43.53S	r (9) r F	# 8A	Female 9-9 100 Free	CWSL-LD	5		-11.00
1:00.47\$		# 17A	Female 9-9 50 Breast	CWSL-LD	10		1.73
46.34S		# 37A	Female 9-9 50 Free	CWSL-LD	4		
Edoardo Cirulli							
3:17.43S		# 28D	Male 12-12 200 IM	CWSL-LD	5		
36.92S		# 32D	Male 12-12 50 Free	CWSL-LD	7		0.69
1:25.72S		# 34D	Male 12-12 100 Back	CWSL-LD	2		0.09
		11 31D	Maic 12 12 100 Back	CW3E ED	2		
Maia Colquhour 23:18.97S		# 4C	Female 11-11 1500 Free	CWSL-LD	1		
		# 40	remale 11-11 1300 Fiee	CW3E-FD	1		
Zoe Colquhoun							
58.82S		# 2A	Female 9-9 50 Fly	CWSL-LD	4		0.75
1:49.70S	F	# 8A	Female 9-9 100 Free	CWSL-LD	9		
Jeremiah Coplit	ing (15) M	1					
38.99S	F	# 3G	Male 15 & Over 50 Breast	CWSL-LD	6		-0.16
1:04.63S	F	# 14G	Male 15 & Over 100 Free	CWSL-LD	6		0.69
34.97S	F	# 16G	Male 15 & Over 50 Back	CWSL-LD	4		-0.08
30.35S	F	# 21G	Male 15 & Over 50 Fly	CWSL-LD	2		0.10
1:09.75S	F	# 25G	Male 15 & Over 100 Fly	CWSL-LD	2		1.65
27.55S	F	# 32G	Male 15 & Over 50 Free	CWSL-LD	4		-0.10
Matthew Dionis	io (14) M						
34.14S	F	# 21F	Male 14-14 50 Fly	CWSL-LD	4		-0.73

Time	F/P/S	Event		Place	Points	Improv
Alexander Dram	nitinos (10) M					
1:01.13S	F # 3B	Male 10-10 50 Breast	CWSL-LD	10		
2:18.73\$	F # 14B	Male 10-10 100 Free	CWSL-LD	17		
1:03.62S	F # 16B	Male 10-10 50 Back	CWSL-LD	12		
Aslan Eler (14)	М					
9:58.90S	F # 12F	Male 14-14 800 Free	CWSL-LD	2		
Kaplan Eler (10)) M					
11:47.12S	F # 12B	Male 10-10 800 Free	CWSL-LD	1		
Samuel Emanue	J (12) M					
3:51.99S DQ		Male 12-12 200 Breast	CWSL-LD			
1:53.66S DQ			CWSL-LD			
Caroline Furtad						
2:06.07S DQ		Female 9-9 100 Free	CWSL-LD			
58.83S	F # 17A		CWSL-LD	8		
59.26S	F # 22A		CWSL-LD	6		
2:08.73\$	F # 26A		CWSL-LD	4		
Dominika Huby						
48.56S	F # 2B	Female 10-10 50 Fly	CWSL-LD	6		0.86
1:29.19\$	F # 8B	Female 10-10 100 Free	CWSL-LD	4		-5.59
1:39.45S	F # 11B		CWSL-LD	4		-3.37
48.60S	F # 17B		CWSL-LD	2		
3:16.10S	F # 20B		CWSL-LD	5		
44.83S	F # 22B		CWSL-LD	4		-2.66
1:40.47S	F # 26B		CWSL-LD	5		
1:52.38\$	F # 29B		CWSL-LD	6		
3:44.97\$	F # 33B	Female 10-10 200 Breast	CWSL-LD	4		
40.26S	F # 37B	Female 10-10 50 Free	CWSL-LD	12		
Alexandra Ierod	liaconou (9) F					
1:00.07S	F # 2A	Female 9-9 50 Fly	CWSL-LD	5		2.58
1:45.72S	F # 8A	Female 9-9 100 Free	CWSL-LD	7		
1:50.23S	F # 11A	Female 9-9 100 IM	CWSL-LD	4		
54.76S	F # 17A	Female 9-9 50 Breast	CWSL-LD	6		-0.90
Jay Jackson (9)	М					
57.38S	F # 3A	Male 9-9 50 Breast	CWSL-LD	3		
1:57.39S	F # 14A	Male 9-9 100 Free	CWSL-LD	8		
59.96S	F # 16A	Male 9-9 50 Back	CWSL-LD	7		
Aleena Johnson	(10) F					
1:06.38S	F # 2B	Female 10-10 50 Fly	CWSL-LD	10		
1:52.08S	F # 8B	Female 10-10 100 Free	CWSL-LD	10		
2:00.34\$	F # 11B	Female 10-10 100 IM	CWSL-LD	8		
1:02.098	F # 17B	Female 10-10 50 Breast	CWSL-LD	16		
NS	F # 22B	Female 10-10 50 Back	CWSL-LD			

Time	F/P/S		Event		Place	Points	Improv
Shunsei Kwan (1	11) M						
6:26.64S	F	# 5C	Male 11-11 400 Free	CWSL-LD	5		
1:38.13S	F	# 7C	Male 11-11 100 IM	CWSL-LD	3		-1.17
1:21.248	F	# 14C	Male 11-11 100 Free	CWSL-LD	7		-2.66
46.06S	F	# 16C	Male 11-11 50 Back	CWSL-LD	9		-0.20
3:40.22S	F	# 18C	Male 11-11 200 Breast	CWSL-LD	2		
Beatrix Latto (1	0) F						
58.878	-	# 17B	Female 10-10 50 Breast	CWSL-LD	15		
2:12.69\$	F	# 29B	Female 10-10 100 Breast	CWSL-LD	9		
X 4:39.22S	F	# 33B	Female 10-10 200 Breast	CWSL-LD			
52.30S	F	# 37B	Female 10-10 50 Free	CWSL-LD	21		
Elycia Lawal (9)	F						
2:05.56S		# 11A	Female 9-9 100 IM	CWSL-LD	7		
59.41S	F	# 17A	Female 9-9 50 Breast	CWSL-LD	9		-1.18
2:06.92S	F	# 29A	Female 9-9 100 Breast	CWSL-LD	2		-10.05
45.30S	F	# 37A	Female 9-9 50 Free	CWSL-LD	3		-6.15
Eric Lesesne (14	I) M						
40.998	-	# 3F	Male 14-14 50 Breast	CWSL-LD	3		-4.98
1:02.14S	F	# 14F	Male 14-14 100 Free	CWSL-LD	2		-5.68
32.23S	F	# 16F	Male 14-14 50 Back	CWSL-LD	2		-2.91
30.84S	F	# 21F	Male 14-14 50 Fly	CWSL-LD	1		-0.75
27.50S	F	# 32F	Male 14-14 50 Free	CWSL-LD	1		-1.09
1:12.98S	F	# 34F	Male 14-14 100 Back	CWSL-LD	1		-7.63
Laetitia Magnien	(9) F						
53.86\$		# 17A	Female 9-9 50 Breast	CWSL-LD	3		
42.87S DQ	F	# 22A	Female 9-9 50 Back	CWSL-LD			
Anna McCormick	(9) F						
1:38.845		# 8A	Female 9-9 100 Free	CWSL-LD	2		
3:35.25S	F	# 20A	Female 9-9 200 Free	CWSL-LD	2		
51.83S	F	# 22A	Female 9-9 50 Back	CWSL-LD	3		
1:47.43S	F	# 26A	Female 9-9 100 Back	CWSL-LD	1		
Maya Mehta (10) F						
54.34S	-	# 2B	Female 10-10 50 Fly	CWSL-LD	8		1.63
NS		# 8B	Female 10-10 100 Free	CWSL-LD			
1:43.58\$		# 11B	Female 10-10 100 IM	CWSL-LD	6		-0.98
50.72S		# 17B	Female 10-10 50 Breast	CWSL-LD	6		-0.73
49.64S		# 22B	Female 10-10 50 Back	CWSL-LD	8		-18.76
1:49.56S		# 26B	Female 10-10 100 Back	CWSL-LD	8		
1:52.12S	F	# 29B	Female 10-10 100 Breast	CWSL-LD	5		1.48
4:04.12S	F	# 33B	Female 10-10 200 Breast	CWSL-LD	10		
43.78S		# 37B	Female 10-10 50 Free	CWSL-LD	16		1.25
Sebastian Mosba	cher (10)	М					
NS		# 16B	Male 10-10 50 Back	CWSL-LD			

Time	F/P/S	;	Event		Place	Points	Improv
Elizabeth Mous	takas (13)	F					
2:55.79\$	F	# 6E	Female 13-13 200 Back	CWSL-LD	1		3.00
1:14.28\$	F	# 8E	Female 13-13 100 Free	CWSL-LD	2		3.09
Eamon Muhtase	eb (10) M						
1:08.39\$		# 3B	Male 10-10 50 Breast	CWSL-LD	12		
2:29.08\$		# 7B	Male 10-10 100 IM	CWSL-LD	7		
2:18.17S	F	# 14B	Male 10-10 100 Free	CWSL-LD	16		
1:05.458	F	# 16B	Male 10-10 50 Back	CWSL-LD	13		
NS	F	# 32B	Male 10-10 50 Free	CWSL-LD			
2:14.54S	F	# 34B	Male 10-10 100 Back	CWSL-LD	11		
Annika Olson (9) F						
6:56.46S	-	# 9A	Female 9-9 400 Free	CWSL-LD	1		
1:36.36\$	F	# 11A	Female 9-9 100 IM	CWSL-LD	1		-9.43
3:31.83\$	F	# 15A	Female 9-9 200 IM	CWSL-LD	1		
48.79S		# 17A	Female 9-9 50 Breast	CWSL-LD	1		-6.81
Maya Orfanidis	(10) F						
21:02.918		# 4B	Female 10-10 1500 Free	CWSL-LD	1		
Giulia Pinna (9) 2:25.09S	-	# 29A	Female 9-9 100 Breast	CWSL-LD	4		
2:53.78S DQ		# 25A # 35A	Female 9-9 100 Fly	CWSL-LD			
55.97S		# 37A	Female 9-9 50 Free	CWSL-LD	10		
		11 3711	Temale 7 7 50 Tree	CW3L LD	10		
Rogan Pinto (1	-	u 26	M 1 45 0 0 50 D	CINICI I D	2		
36.69\$		# 3G	Male 15 & Over 50 Breast	CWSL-LD	2		
1:00.16S		# 14G	Male 15 & Over 100 Free	CWSL-LD	2		-1.33
31.75S		# 16G	Male 15 & Over 50 Back	CWSL-LD	1		-0.99
NS		# 21G	Male 15 & Over 50 Fly	CWSL-LD			
Ethan Pitoun (1	-						
3:22.71S		# 1B	Male 10-10 200 Free	CWSL-LD	4		
54.54S	F	# 3B	Male 10-10 50 Breast	CWSL-LD	5		-2.36
7:11.45S		# 5B	Male 10-10 400 Free	CWSL-LD	4		
1:47.87S	F	# 7B	Male 10-10 100 IM	CWSL-LD	4		-5.11
1:37.98S		# 14B	Male 10-10 100 Free	CWSL-LD	9		3.34
52.32S		# 16B	Male 10-10 50 Back	CWSL-LD	8		1.16
50.16S		# 21B	Male 10-10 50 Fly	CWSL-LD	4		6.77
2:01.72S		# 27B	Male 10-10 100 Breast	CWSL-LD	5		
3:52.51S		# 28B	Male 10-10 200 IM	CWSL-LD	9		
42.93S		# 32B	Male 10-10 50 Free	CWSL-LD	10		0.13
NS	F	# 34B	Male 10-10 100 Back	CWSL-LD			
Benjamin Podu	rgiel (12)	M					
X10:31.14S	F	# 12D	Male 12-12 800 Free	CWSL-LD			
Luke Pryce-Jone	es (12) M						
10:06.41S		# 12D	Male 12-12 800 Free	CWSL-LD	1		

Time	F/P/S	Event		Place	Points	Improv
Eugenie Radziw	ill (9) F					
1:05.448	F # 2A	Female 9-9 50 Fly	CWSL-LD	7		
1:46.318	F # 8A	Female 9-9 100 Free	CWSL-LD	8		-3.78
NS	F # 17	Female 9-9 50 Breast	CWSL-LD			
X 3:46.73S	F # 20A	Female 9-9 200 Free	CWSL-LD			
57.56S DQ	F # 22 <i>F</i>	Female 9-9 50 Back	CWSL-LD			
2:06.44S DQ	F # 26A	Female 9-9 100 Back	CWSL-LD			
NS	F # 37/	Female 9-9 50 Free	CWSL-LD			
Alisa Riskin (11	l) F					
2:03.05S	F # 110	Female 11-11 100 IM	CWSL-LD	12		
4:29.77S	F # 150	Female 11-11 200 IM	CWSL-LD	12		
56.75S	F # 170	Female 11-11 50 Breast	CWSL-LD	14		0.15
4:09.67S	F # 330	Female 11-11 200 Breast	CWSL-LD	12		
2:41.66S DQ	F # 350	Female 11-11 100 Fly	CWSL-LD			
54.90S	F # 370		CWSL-LD	21		5.33
Liana Roberts (0) F					
2:03.85\$	F # 11/	Female 9-9 100 IM	CWSL-LD	6		
1:04.82S	F # 17/		CWSL-LD	13		
2:20.86S	F # 29A		CWSL-LD	3		2.22
47.08S	F # 37A		CWSL-LD	7		1.29
		1 10111110 3 3 00 1100	01102 22	,		1.27
Sienna Rodrigue 1:48.87S	ez (9) F F # 11/	Esmala 0.0.100 IM	CWSL-LD	3		1 [1
49.86S	F # 17/		CWSL-LD	2		-1.51 -1.34
49.003 NS	F # 17F		CWSL-LD			-1.34
		remale 9-9 100 Breast	CM2F-FD			
Aryan Shekar (9	-					
NS	F # 3A	Male 9-9 50 Breast	CWSL-LD			
Christopher Ske	eggs (10) M					
4:08.64S	F # 1B	Male 10-10 200 Free	CWSL-LD	6		4.92
59.03S	F # 3B	Male 10-10 50 Breast	CWSL-LD	6		-1.76
1:54.138	F # 14F	Male 10-10 100 Free	CWSL-LD	15		-0.58
57.55S	F # 16F	Male 10-10 50 Back	CWSL-LD	9		-0.06
4:32.44S DQ	F # 18F	Male 10-10 200 Breast	CWSL-LD			
4:17.46S DQ	F # 28F	Male 10-10 200 IM	CWSL-LD			
50.38\$	F # 32F	Male 10-10 50 Free	CWSL-LD	14		-12.25
2:00.60S	F # 34F	Male 10-10 100 Back	CWSL-LD	10		
Isabella Stagno	d Alcontres (9)	F				
55.19S	F # 2A	Female 9-9 50 Fly	CWSL-LD	2		-1.98
1:38.16S	F # 8A	Female 9-9 100 Free	CWSL-LD	1		-4.36
1:51.75S	F # 11	Female 9-9 100 IM	CWSL-LD	5		
49.90S	F # 22A	Female 9-9 50 Back	CWSL-LD	2		
41.72S	F # 37 <i>F</i>	Female 9-9 50 Free	CWSL-LD	2		-6.07
Daniel Streltsov	(14) M					
9:41.24S	F # 12F	Male 14-14 800 Free	CWSL-LD	1		

Time	F/P/S	Event		Place	Points	Improv
Gabriel Tic (9) N	М					
1:01.47S DQ	F # 3A	Male 9-9 50 Breast	CWSL-LD			
1:45.898	F # 14A	Male 9-9 100 Free	CWSL-LD	7		
49.52S	F # 16A	Male 9-9 50 Back	CWSL-LD	2		
1:00.79S DQ	F # 21A	Male 9-9 50 Fly	CWSL-LD			
45.40S	F # 32A	Male 9-9 50 Free	CWSL-LD	3		
1:44.18S DQ	F # 34A	Male 9-9 100 Back	CWSL-LD			
Teo Tran (9) M						
1:58.10S	F # 14A	Male 9-9 100 Free	CWSL-LD	9		
54.73S	F # 16A	Male 9-9 50 Back	CWSL-LD	6		-1.05
Charlotte Veilex	(13) F					
21:28.44S	F # 4E	Female 13-13 1500 Free	CWSL-LD	2		
Nicolas Venuti (1	11) M					
11:45.74S	F # 12C	Male 11-11 800 Free	CWSL-LD	1		
Emilia Webster ((9) F					
1:00.44S	F # 2A	Female 9-9 50 Fly	CWSL-LD	6		1.51
1:44.33S	F # 8A	Female 9-9 100 Free	CWSL-LD	6		-10.65
4:19.34\$	F # 15A	Female 9-9 200 IM	CWSL-LD	3		-14.12
1:04.57\$	F # 17A	Female 9-9 50 Breast	CWSL-LD	12		-5.41
1:50.048	F # 26A	Female 9-9 100 Back	CWSL-LD	2		-9.81
2:11.12S	F # 35A	Female 9-9 100 Fly	CWSL-LD	2		-10.28
46.80S	F # 37A	Female 9-9 50 Free	CWSL-LD	5		0.30
Felix Welter (14)) M					
5:24.198	F # 5F	Male 14-14 400 Free	CWSL-LD	2		10.81
1:19.798	F # 7F	Male 14-14 100 IM	CWSL-LD	3		-18.06